A Maximization Problem in Standard Form

Maximize ¢1X1 + ¢X3 + ... + CuXp
s.t. xi>0fori=1,2,...,nand

anxg +apXs+ ... + apXp = b]
a12X1 + a22X2 + ... + 1pXn = b2

Am1X1 + Am2X2 +.oe + AunXn = bm

b, a,, dp a,
b a a
crow=[c; C2...¢cy]; b column = :2 ; Amatrix=| ' :22 2”
bm aml amZ amn
Partial Initial Simplex Tableau
C row
A matrix b column
Initial Simplex Tableau
X1 X2 Xp Ratio
Basis Cp C1 () Cn
Xpme1 |0 an a2 amnm by
Xpme2 |0 ap ax axn b2
z; 0 0 0 0
Cj -z C1 C Cp
Initial Simplex Tableau Par, Inc. Example:
X1 X; S1 S S3 S4 Ratio
Basis Cg 10 9 0 0 0 0 bi/ai
S1 0 7/10 1 1 0 0 0 630 900
S2 0 1/2 5/6 0 1 0 0 600 1200
S3 0 1 2/3 0 0 1 0 708 708
S4 0 1/10 1/4 0 0 0 1 135 1350
Z; 0 0 0 0 0 0 0
Cj - Zj 10 9 0 0 0 0




First Iteration Par, Inc. Example:

X1 X S1 S S3 S4 Ratio
Basis Cp 10 9 0 0 0 0 bi/ap;
S1 0 0 8/15 1 0 -7/10 0 134.4 252
) 0 0 1/2 0 1 -1/2 0 246 492
X1 10 1 2/3 0 0 1 0 708 1062
Sq 0 0 11/60 0 0 -1/10 1 64.2 | 350.18
z; 10 20/3 0 0 0 0 7080
Cj-Z; 0 7/3 0 0 -10 0
Second Iteration Par, Inc. Example:
X1 X2 S1 S2 S3 S4
Basis Cp 10 9 0 0 0 0
X, 9 0 1 15/8 0 -21/16 0 252
S2 0 0 0 -15/16 1 5/32 0 120
X1 10 1 0 -5/4 0 15/8 0 540
S4 0 0 0 -11/32 0 135/960 1 18
z; 10 9 35/8 0 111/16 0 7668
Cj - Z; 0 0 -35/8 0 -111/16 0




